
NORTH

 15' 

 4' SW
 

 8' SW
 5 

 1
0'
 

 19.8' SW
 4 

 4
' S

W
 5

 

 8' M
IN

. SW
 5 

 6
' S

W
 5

 

 1
0'
 

STRONG TIE HTT4

2' 4'1' 3'0

SCALE: 1/4" = 1'

5'

DRAWN BY: CASH M. CARR

DATE: 5/25/2019

ENGINEERING PLAN

PRO
PO

SED
 SW

5

RESIDENCE 

BEA
M

 D
: 4x8 H

F2 BEA
M

 + 1.75x7.25" LV
L

GARAGE

2nd FLOOR:

EXISTING DECK

3.
5"

x1
0.

5"
 R

O
SB

RO
 X

-B
EA

M

BACEMENT: 3.5"x6" ROSBRO GL POST 

2x, 2x4 DF2 JACK STUDS
2x, 2x4 DF2 KING STUD
AS PER IRC TABLE R603.7

3.
5"

x1
0.

5"
 R

O
SB

RO
 X

-B
EA

M
 G

L

(R
EP

LA
C

ES
 E

XIS
TIN

G
 H

EA
D

ER
S)

HIP RIDGE CONECTOR

PARCEL # 546110-0090

4x, 2x4 DF2 STUDS
BACMENT:

CONVERT EXISTING GARAGE, NEW-BUILD CARPORT

STRONG-TIE HRRC44

HRS12 STRAP UNLESS TOP PLATES CONTINUOUS

ADDRESS: 4307 E Mercer Way

O
V
ERH

A
N
G

BACMENT:
4x, 2x4 DF2 STUDS

STRONG TIE HTT4

H
EA

D
ER

 A
:

SUPPO
RT O

V
ERH

A
N
G

 W
ITH

 PO
ST A

N
D
 PIER

EMBENDMENT AND PLATE 

OR 5/8" ANCHOR WITH 7" EMBENDMENT AND PLATE WASHER

INSTALL HEADER TO REPLACE EXISTING
INSTALL SHEAR WALLS TO REPLACE EXTERIOR WALLS REMOVED

SEC
TIO

N
 S

STRONG TIE HTT4
AS PER IRC TABLE R603.7
2x, 2x4 DF2 KING STUD
2x, 2x4 DF2 JACK STUDS
2nd FLOOR:

STRONG TIE HTT4

STRONG TIE UFRP

EXISTING DECK

4307 E Mercer Way

(R
EP

LA
C

ES
 E

XIS
TIN

G
 H

EA
D

ER
S)

REPLA
C

ED
 W

ITH
:

EXTERIO
R W

A
LL REM

O
V
ED

H
EA

D
ER

 A
:

2nd FLOOR: 3.5"x6" ROSBRO GL POST

LO
A

D
 B

EA
RIN

G
 W

A
LL

3.
5"

x1
0.

5"
 R

O
SB

RO
 X

-B
EA

M
 G

L

EXISTIN
G

 RO
O

F TRUSSES

PAGE NUMBER: 1

PRO
PO

SED
 SW

5

3.
5"

x1
0.

5"
 R

O
SB

RO
 X

-B
EA

M

PROPOSED CARPORT

PRO
PO

SED
 2x8 H

F2 JO
ISTS @

 24" O
.C

.

EXISTIN
G

 2x4 RO
O

F JO
ISTS @

 24" O
.C

.

3x
, 2

x1
2 

H
F2

RID
G

E 
BE

A
M

 E
1:

3x, 2x10 HF2

RIDGE BEAM E2:

LSTA 9 STRAP BOTH SIDES
PB66 BRACKET TO FOOTING

3
x
, 2

x
1

0
 H

F
2

R
ID

G
E
 B

E
A

M
 E

2
:

4x8 H
F2

PRO
PO

SED
 H

EA
D
ER F

FOOTING AS PER F3
6x6 HF2 POST

4x6 PT HF POST,
2'x2' FOOTING AS PER DETAIL F2

OR 5/8" ANCHOR WITH 7" 
STRONG TIE UFRP

2x
6 

H
F2

 H
EA

D
ER

4x
8 

H
F2

 H
EA

D
ER

4x
8 

H
F2

 H
EA

D
ER

4x
8 

H
F2

 H
EA

D
ER

SECTION C

SECTION C

SECTION C

SECTION D

SECTION D

CODES REFEENCED: 2015 IBC, 2015 
WHERE WITHIN 6" OF GROUND.

5.

IRC.
6.

ATTACH WITH SDS 1/4x3" SCREWS.
USE PLYWOOD BLOCKING BOTH SIDES AS REQUIRED
HRS12 STRAP BOTH SIDES

ALL TIMBER SHALL BE PRESURE TREATED 

FRA
M

ED
 A

S SW
 4

PRO
PO

SED
 FRA

M
E-IN

 O
F EXISTIN

G
 G

A
RA

G
E D

O
O

R

LSTA 9 STRAP BOTH SIDES
PB66 BRACKET TO FOOTING
4x6 PT HF POST,
2'x2' FOOTING AS PER DETAIL F2

FLO
O

R FRA
M

E IN

LSTA 9 STRAP BOTH SIDES
PB66 BRACKET TO FOOTING

FLO
O

R FRA
M

E IN

WASHER

FA
STEN

 LV
L TO

 H
F2 W

ITH
 1/4"x3.5" SC

REW
S 2' O

.C
.

BEA
M

 C
: PT 4x8 #

2 H
F

SECTION A

SECTION B

NOTES:
CONCRETE MIN. STRENGTH 2500 PSI1.
ALL GLB SHALL HAVE A MODULUS OF 2.
ELASTICITY OF 1800psi OR GREATER
ALL GLB SHALL HAVE A MINIMUM Fb 3.
OF 1850 PSI.
ALL TIMBER SHALL BE HF2 OR BETER 4.
UNLESS OTHERWISE SPECIFIED.

2'x2' FOOTING AS PER DETAIL F2
4x6 PT HF POST,

DESCRIPTION OF WORK:

HRS12 STRAP UNLESS TOP PLATES CONTINUOUS

NAIL TYPE: 10d (0.148"x3") COMMON NAILS

NAIL SPACING FIELD: 6" O.C.
NOMINAL TOP AND BOTTOM PLATE THICKNESS IN INCHES: 4"
IF EXISTING PLATES ARE LESS THEN SPECIFYED USE BLOCKING FOR 
ADDITIONAL THICKNESS.
NOMINAL STUD THCKNESS IN INCHES AT PANEL EDGES: 3" 
STAGER NAILS AT PANEL BOUNDERIES
NOMINAL BLOCKING THICKNESS IN INCHES AT PANEL BOUNDERIES: 3"
BOTTOM PLATE NAILING SPACING (TO SUBFLOOR AND RIM JOIST IF 
APPLICABLE) 16d  (0.162"x3.5") NAILS 3" O.C.
FOUNDATION ANCHORAGE IF APPLICABLE:  5/8" DIA. BOLTS WITH  7" 
EMBEDMENT AND PLATE PLATE WASHERS 4" O.C. AND 12" FROM EACH 
PANEL AND PLATE END.
STRONG-TIE UFRP RETROFIT PLATES MAY SUBSTITUE FOR 5/8" DIA. BOLTS IF 
INSTALLED AS PER MANUFACTER'S RECOMENDATOINS
3" MIN. RIM JOIST OR BLOCKING REQUIRED.
TOP PLATE NAILING SPACING 16d (0.162"x3.5") NAILS (FROM RIM JOIST 
TO TOP PLATE): 2" O.C.

PANEL TYPE: 15/32 PLYWOOD OR OSB STRUCTURAL PANELS

NAIL SPACING EDGES: 2" O.C.

SHEAR WALL TYPE 5 (SW5):

ADDITIONAL THICKNESS.
NOMINAL STUD THCKNESS IN INCHES AT PANEL EDGES: 3" 
STAGER NAILS AT PANEL BOUNDERIES
NOMINAL BLOCKING THICKNESS IN INCHES AT PANEL BOUNDERIES: 3"
BOTTOM PLATE NAILING SPACING (TO SUBFLOOR AND RIM JOIST IF 
APPLICABLE) 16d  (0.162"x3.5") NAILS 3" O.C.
FOUNDATION ANCHORAGE IF APPLICABLE:  5/8" DIA. BOLTS WITH  7" 
EMBEDMENT AND PLATE PLATE WASHERS 6" O.C. AND 12" FROM EACH 
PANEL AND PLATE END.
STRONG-TIE UFRP RETROFIT PLATES MAY SUBSTITUE FOR 5/8" DIA. BOLTS IF 
INSTALLED AS PER MANUFACTER'S RECOMENDATOINS
2" MIN. RIM JOIST OR BLOCKING REQUIRED.
TOP PLATE NAILING SPACING 16d (0.162"x3.5") NAILS (FROM RIM JOIST 
TO TOP PLATE): 3" O.C.

SHEAR WALL TYPE 4 (SW4):
PANEL TYPE: 15/32 PLYWOOD OR OSB STRUCTURAL PANELS
NAIL TYPE: 10d (0.148"x3") COMMON NAILS
NAIL SPACING EDGES: 3" O.C.
NAIL SPACING FIELD: 6" O.C.
NOMINAL TOP AND BOTTOM PLATE THICKNESS IN INCHES: 4"
IF EXISTING PLATES ARE LESS THEN SPECIFYED USE BLOCKING FOR 

DESIGN CRITERIA

SOIL: 1500 psf
SNOW: 25 psf
ROOF LIVE LOAD: 20 psf
FLOOR LOADS: 40 psf
DECK LOADS: 60 psf
FLOOR LIVE LOAD: 40 psf
DESIGN WIND SPEED, 3-SECOND GUST: 110 mph
WIND EXPOSURE CATAGORY: B
WIND CALCULATION METHOUD: 2015SBC, ASCE 7-10
WIND SPEED UP FACTOR (Kzt): 1.0
SEISMIC ANALYSIS PROCEDURE USED: 2012SBC, ASCE 7-10
SEISMIC DESIGN CATAGORY: D
SITE CLASS: D

6x6 DF2 POST WITH HRS12 STRAPS BOTH SIDES
OR
3x, DF2 JACK STUDS, 2x, DF2 KING STUDS



2x6 H
F2 O

V
ERFRA

M
E

PAGE NUMBER: 2

CARPORT PLAN

DATE: 2/27/2018

DRAWN BY: CASH M. CARR

5'

SCALE: 1/4" = 1'

0 3'1' 4'2'

G
IRD

ER TRUSS

TRUSSES @
 24" O

.C
.

2x
6 

RID
G

E 
BO

A
RD

2x6 H
F2 O

V
ERFRA

M
E

H
IP TRUSSES @

 24" O
.C

.

LO
A
D
 BEA

RIN
G

 W
A
LL

NOTE: TRUSSES TO BE DESINGED BY MANUFATERER

5.5"x5.5" GLB POST
NOT TO BE CAMBERED

NOTE:

EACH JOIST OR TRUSS FOR WIND UPLIFT
SDWC15600 6" FULLY THREADED SCREWS 

EACH JOIST OR TRUSS FOR WIND UPLIFT
SDWC15600 6" FULLY THREADED SCREWS 

BE
A

M
 B

1:
 5

.5
"x

14
" G

LB
, F

b
=18

50
p

si,
 E

=18
00

 P
SI

BE
A

M
 B

1:
 5

.5
"x

14
" G

LB
, F

b
=18

50
p

si,
 E

=18
00

 P
SI

EACH JOIST OR TRUSS FOR WIND UPLIFT

BEA
M

 B1: 5.5"x14" G
LB, Fb

=1850p
si, E=1800 PSI

3'x3' FOOTING AS PER DETAIL F1

3'x3' FOOTING AS PER DETAIL F1

SDWC15600 6" FULLY THREADED SCREWS 

5.5"x5.5" GLB POST
NOT TO BE CAMBERED



SECTION C

2' 4'1' 3'0

SCALE: 1" = 1'

5'

DRAWN BY: CASH M. CARR

DATE: 2/27/2018

WALL DETAIL

GARAGE SW RETROFIT

EXCEPTION: SHEATHING MAY BE JOINED IF 
EACH PANNEL IS NAILED AS PER SW EDGE 
SPACING (2" O.C.)  TO 3" BLOCKING

NAIL SHEATHING AS PER SW SCEDULE

SOUTH SW RETROFIT

PAGE NUMBER: 3

RETROFIT SHEAR 

STAGERED PATTERN
NAIL BLOCKING TO EXISTING SILL PLATE WITH 16d (0.156" DIA.x3") NAILS 6" O.C. IN 
3" NOMINAL BOTTOM PLATE, EXISITNG SILL PLATE

DOUBLE TOP PLATE
(0.156" DIA.x3")  NAILING TO EXISTNG 
STAGER  SHEATHING NAILING 3" O.C. 16d 

HOT DIPPED GALVENIZED IF EXTERIOR
URFP RETROFIT PLATE WITH ALL FASTENERS AS PER MANUFACER'S INSTRUCTIONS 4' O.C.

OR

3" NOMINAL BOTTOM PLATE, EXISITNG SILL PLATE

NAIL SHEATHING AS PER SW SCEDULE

EXISTING FOOTING

SPACING (2" O.C.)  TO 3" BLOCKING

STAGER 3" O.C. 16d (0.156" DIA.x3")  NAILING 

EACH PANNEL IS NAILED AS PER SW EDGE 

TO EXISTNG SILL PLATE AND BLOCKING

NAIL WITH 16d NAILS 3" O.C. TO EXISTING JOISTS

INSTALLED AS PER MANUFACER'S INSTRUCTIONS
SDWC15600 6" FULLY THREADED SCREWS 16" O.C. TO EXISTING ROOF FRAMING

FULL HEIGHT BLOCKING

EXCEPTION: SHEATHING MAY BE JOINED IF 
PANELS SHALL BE FULL HEIGHT

TO FULL HEIGHT BLOCKING
 1/4"x5" SDS SCREWS THROUGH TOP PLATES 
THREE (3x)  EACH 16" SECTION:

15/32" PLYWOOD OR OSB SHEATHING

REPLACE EXISTING SHEATHING WITH:

5/8" DIA. POST-INSTALLED ANCHORS WITH 7" EMBEDMENT AND PLATE WASHERS 4' O.C.

OR

URFP RETROFIT PLATE WITH ALL FASTENERS AS PER 

INSTRUCTIONS
INSTALLED AS PER MANUFACER'S 

EXTERIOR.
HOT DIPPED GALVANIZED OR PROPRIETARY COATED IF INSTALLED ON 
1" EXTRA THICK FLAT WASHER OR DOUBLE (2x)  1' FLAT WASHERS.
(1x) 1/2" POST-INSTALL ANCHOR WITH 4" EMBEDMENT IN CONCRETE, 

MANUFACER'S INSTRUCTIONS
INSTALLED AS PER 

INSTALLED AS PER MANUFACER'S INSTRUCTIONS
SDWC15600 6" FULLY THREADED SCREWS 16" O.C. TO EXISTING ROOF FRAMING

NAIL WITH 16d NAILS 3" O.C. TO EXISTING JOISTS

EXISTING FOOTING

FULL HEIGHT BLOCKING

HEIGHT BLOCKING

DOUBLE TOP PLATE
(0.156" DIA.x3")  NAILING TO EXISTNG 
STAGER  SHEATHING NAILING 3" O.C. 16d 

THROUGH TOP PLATES TO FULL 
 1/4"x5" SDS SCREWS 
THREE (3x)  EACH 16" SECTION:

INSTALL WITH SDS SCREWS AS PER MANUFACTER'S INSTRUCTIONS
MST48 INSTLATION:

5/8" POST-INSTALL ANCHOR WITH 7" EMBEDMENT IN CONCRETE
INSTALL WITH SDS SCREWS AS PER MANUFACTER'S INSTRUCTIONS

DIA.x3") NAILS 6" O.C. IN STAGERED PATTERN
NAIL BLOCKING TO EXISTING SILL PLATE WITH 16d (0.156" 
3" NOMINAL BOTTOM PLATE, EXISITNG SILL PLATE
HOT DIPPED GALVENIZED IF EXTERIOR
MANUFACER'S INSTRUCTIONS AS PER SW SCEDULE

HTT4 OR MST48 STRAP EACH END OF SW FOR UPLIFT RESTRAINT

HTT4 INSTLATION:

5/8" DIA. POST-INSTALLED ANCHORS WITH 7" EMBEDMENT AND 
PLATE WASHERS AS PER SW SCEDULE
3" NOMINAL BOTTOM PLATE, EXISITNG SILL PLATE

REPLACE EXISTING SHEATHING WITH:

15/32" PLYWOOD OR OSB SHEATHING
PANELS SHALL BE FULL HEIGHT

HTT4 STRAP EACH END OF SW FOR UPLIFT RESTRAINT

HTT4 INSTLATION:
INSTALL WITH SDS SCREWS AS PER MANUFACTER'S INSTRUCTIONS
5/8" POST-INSTALL ANCHOR WITH 7" EMBEDMENT IN CONCRETE

SECTION D



 3
'-
0

" 

 3'-0" 

 1
'-
6

" 

 3
" 

 3
" 

 1
'-
0

" 
M

IN
. 

 1'-0" MIN. 

 6" 

 6
" 

 2
'-
0

" 
 2'-0" 

G
R

E
A

TE
R

 O
F
 1

2
" 

O
R

 D
E
P

TH
 O

F
 

E
X

IS
TI

N
G

 F
O

O
TI

N
G

S

 3
"  7

" 

DECK

2' 4'1' 3'0

SCALE: 1" = 1'

5'

DRAWN BY: CASH M. CARR

DATE: 2/27/2018

GRADE

PROPOSED FOOTING DETAILS

PAGE NUMBER: 4

SECTION B

GARAGE FRAME-IN SW RETROFIT

PROPOSED GARAGE DOOR FRAME IN SW DETAIL

NAIL SHEATHING AS PER SW SCEDULE
BUILD NEW AS APPLICABLE.
REPLACE EXISTING SHEATHING OR 

3" NOMINAL BOTTOM PLATE, EXISITNG SILL PLATE

PROPOSED FOOTING

PLATE WASHERS AS PER SW SCEDULE

NAIL WITH 16d NAILS 3" O.C. TO EXISTING JOISTS
FULL HEIGHT BLOCKING

5/8" DIA. POST-INSTALLED ANCHORS WITH 7" EMBEDMENT AND 

INSTALLED AS PER MANUFACER'S INSTRUCTIONS
EXISTING ROOF FRAMING
SDWC15600 6" FULLY THREADED SCREWS 16" O.C. TO 

2x, #4 REBAR BOTH DIRECTIONS

MANUFACER'S INSTRUCTIONS

PROPOSED FRAMING 16" O.C.

INSTALLED AS PER 

UPLIFT RESTRAINT

4" DRIVEWAY SLAB

3'x3' POST FOOTING WITH PBS66 POST CONECTOR

STRONG TIE PBS66

LSTHD8 STRAPS OR HTT4 AT EACH END OF SW FOR 

DETAIL F1

NOT TO BE CAMBERED

2x, #4 REBAR BOTH DIRECTIONS

2x, #4 REBAR BOTH DIRECTIONS

5.5"x5.5" GLB POST

12" OR DEPTH OF EXISTING FOOTINGS

#4 REBAR

#4 REBAR

#4 REBAR

DEPTH SHALL BE THE GREATER OF:

ALTERNATING 90 DEGREE HOOKS

GRADE

PB66

DETAIL F2

4x6 PT HF2 POST

THREE (3x)  EACH 16" SECTION:
 1/4"x5" SDS SCREWS 
THROUGH TOP PLATES TO FULL 
HEIGHT BLOCKING

#4 REBAR VERTICALS @ 4' O.C.

2x, #4 REBAR BOTH DIRECTIONS

BATHROOM



 6
" 

 2
'-
0

" 

 2'-0" 

 9.5' MAX. 

4x6 PT HF2 POST

2' 4'1' 3'0

SCALE: 1" = 1'

5'

DRAWN BY: CASH M. CARR

DATE: 2/27/2018

FLOOR FRAMING DETAIL

FLOOR FRAME -IN

PAGE NUMBER: 5

FOOTING DETAIL F3

EXISTING 4" SLAB

HIP ROOF BEAM DETAL

3'x3' POST FOOTING WITH PBS66 POST CONECTOR

STRONG TIE PBS66

DETAIL F3

2x, #4 REBAR BOTH DIRECTIONS

2x10 HF2 JOISTS @ 16" O.C.

3/4" T&G SUBFLOOR

EXISTING SLAB

2x10 PT SLEEPERS

2x10 PT SLEEPERS



Fb=2400 psi (tension zone), 1850 psi (compression zone)

SCALE: 1" = 1'

4'1' 3'0 5'

DRAWN BY: CASH M. CARR

DATE: 2/27/2018

HEADER DETAIL

ML24Z BRACKET

EXISTING RIM JOIST

SDWC15600 6" FULLY THREADED SCREWS 16" O.C. TO 

INSTALLED AS PER MANUFACER'S INSTRUCTIONS

Fv=265 psi

ML24Z BRACKET

1900 psi (compression zone)
PROPOSED 3.5"x6" GLUED-LAMINATED COLUMN

2'

(APROXIMATE)

PROPOSED 3.5"x6" GLUED-LAMINATED COLUMN
1900 psi (compression zone)

ML24Z BRACKET

 (TO REPLACE EXISTING) PROPOSED HEADER
 (TO REPLACE EXISTING)

HEADER TO COLUMN CONECTION DETAIL B

HEADER A DETAIL

PAGE NUMBER: 6

2x, FULL HEIGHT DF2 BLOCKING UNDER COLUMN

EXISTING ROOF FRAMING

HRS12 STRAPS (BEAM TO COLUMN)

MSTI48 STRAP (CONECTING BEAMS)

EXISTING FOOTING

ROSBRO X-BEAM 24F-V4
PROPOSED 3.5"x10.5" GLB

HRS12 STRAPS (BEAM TO COLUMN)

MSTI48 STRAP (CONECTING BEAMS)

PROPOSED HEADER

SECTION A



SDS1.5"x3.5" 2' O.C., STAGERED

2' 4'1' 3'0

SCALE: 1" = 1'

5'

DRAWN BY: CASH M. CARR

DATE: 5/26/2019

SHEAR TRANSFER DETAIL

USE 1/4"x4.5" SDS SCREWS

URFP RETROFIT PLATE WITH ALL FASTENERS AS PER 

SDWC15600 6" FULLY THREADED SCREWS 16" O.C. TO EXISTING ROOF FRAMING

1.75"x9.5" LVL

SDWC15600 6" FULLY THREADED SCREWS 16" O.C. TO EXISTING ROOF FRAMING

TOP PLATES CONTINOUS OR STRAPED IN LOAD PATH TO SW

BLOCKING AS REQUIRED AT LOCATIONS OF UFRP

0.162x3" NAILS, 2" O.C. (SHEATHING TO BLOCKING)
(EXISTING SHEATHING)

INSTALLED AS PER MANUFACER'S INSTRUCTIONS

 

PAGE NUMBER: 7

(ADDITION SHEATHING)

SECTION S

MANUFACER'S INSTRUCTIONS 6' O.C.

(ADDITION SHEATHING)

INSTALLED AS PER MANUFACER'S INSTRUCTIONS

0.162x3" NAILS, 6" O.C. (SHEATHING TO BLOCKING)

ALTERNATE LOCATION OF 1.75"x9.5" LVL

MAY BE LOCATED ON EITHER SIDE OF 4x BEAM

0.146x3" NAILS, 6" O.C. (SHEATHING TO BLOCKING)

STAGERED 3" O.C. NAIL PATTERN
0.162x3" NAILS


